



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{3} =$$



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{152}{45} = 3\frac{17}{45}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{4} = \frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{4} = \frac{109}{36} = 3\frac{1}{36}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{1}{3} = \frac{16}{3} = 5\frac{1}{3}$$

$$\left(\frac{1}{5}\right)^2 + \frac{2}{5} = \frac{11}{25}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{6} = \frac{11}{48}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{61}{100}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{81}{5} = 16\frac{1}{5}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{6} = \frac{53}{6} = 8\frac{5}{6}$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{6}{25}$$

$$\left(\frac{3}{5}\right)^{(-2)} - \frac{1}{3} = \frac{22}{9} = 2\frac{4}{9}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{6} = \frac{5}{18}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{2} = \frac{27}{4} = 6\frac{3}{4}$$

$$\left(-\frac{1}{5}\right) - \frac{1}{2} = \left(-\frac{7}{10}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{3} = \left(-\frac{7}{3}\right) = \left(-2\frac{1}{3}\right)$$